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1.

SECTION 1 (50 marks)

Answer all the questions in this section in the spaces provided.

Without using mathematical tables or calculators, evaluate;

\J 0.0625x2.56% 0.8
0.25%0.08x0.5%0.2
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2. Two similar solids have surface areas 48cm’ a

smaller solid if the bigger one has a volume of 162cm’.
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3. A triangle flower garden has an area of 28m*. Two o
the angle between the two edges.
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4. A watch looses a halfa minute every hour.It was set tore
twelve hour system the time the watch will show on Friday at 1845hr the

Monday. Determine in
same week.
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(3 marks)
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nd 108cm?respectively. Find the volume of the
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fits edges are 14 metres and 8 metres. Find
(2 marks)
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ad the correct time at 0445hr on
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% 73 must be multiplied with to get a perfect

5 Find the least whole number by which 25 x 5%
(3 marks)

cube. What is the cube root of the resulting number?

- 2x5" = s0—8, | = Foo A

:39\Q’K56x:}3

= QQ_KELK?— = M|

6. A woman went on a journey by walking, bus and matatu. She went by bus E of the distance, then

y bus was 55km more than the distance

by matatu for % of the rest of the distance. The distance b
(3 marks)

walked. Find the total distance.

:\“(L“%T%ﬂ@“”mi -\t
- \ - .1-——— A SS Km — M '
i ]

B_y o = ~ IG5 Un —
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7. Simplify the expression: (3 marks)
9t2 — 25a?

6t2 + 19at + 15a?

<p = Gt-ca) (3trs)— b (gt_gcg(yﬁj
X PE

Bkt A
 bitrlgaktisa” @Hggw
. trtqaktioatTica’ = 2t-5a
- 2 g (ab+3e)+ 5o (b3 AL T3A —
. @t-rgc.g(?;{'fgﬁg -‘--"_"Bl DE)\
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8. Given that the position vectors of P and Q are OP

magnitude of PQ is 13 units, find the possible values of x.

bg = *)-(s) — M
= ()

et

l‘)ﬂ:\/@ﬂf—r ey ==
Gta) « iy = (b9

9. The size of an interior angle of regular polygon is
the number of sides of the polygon.

2, x% fx — 20) = 180° =M,
[,\:2(: ;{OOO
% 50
Ak = 5o~ 20°

10. A Kenya company received US Do
bank which buys and sells foreign currencies.

N

Q
= 4D

= Gg) and 0Q = (_xz) and that the

(4 marks)

XVt Lex ot il - 169 =0
x "+ e — | =0

X= ket flo-ntad — M,

2
: B oY — F -’%

3x°. While its exterior angle is (x —20)°. Find

(3 marks)
n= %.-E:-E"z - M‘
50
n~= |a Cided -Pf’l
D3.

llars M. The money was converted into Kenya Shillings in a

Buying (in Ksh) Selling (in (Ksh
1 Sterling Pound 125.78 126.64
1 Us Dollar 75.66 75.86

a) If the company received Ksh.15, 132,000,

= | 5 133000
L —
356k

—

—

b) The ¢
Britain. Calculate the cost of the car to the nearest Sterling pound.
= 15,155,000

A6 -6k
= 19,

Qoofovo Dellovs

ompany exchanged the above Kenya shillings into Sterling pounds to buy

gg <{.
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calculate the amount, M received in US Dollar.

(2 marks)
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(2 marks)
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11. A ploti
along its length and breadth as far apart as possible.

a) The maximum distance between the posts.
2 [6og [6Y
2 3oy | | 3;— —

g2 | 6
) 6 | 2% =

b) The number of posts used.

P allerritn

5

= R s AL
0% .

n a shape of rectangle measurers 608m by 264m. Equidistanc

Determing

QE

%m'—Q)l

l

12. Given that sin (x — 30)° - Cos (4x)". Find the tan (2x+30)°

-0tk =90 —M,
T = QI—F\"

Taw (224 T20) — M)

= 4 Fos —

25

13. A trader sold a dress for Ksh 7,200 allowing a
had not been allowed the trader would have m
the price at which the trader bought the dress.

MP = 100 x 3200 ——
Q0
— ¢l. B0OOO’

@P & _'_EE x Sk fo 0O
125

— Sh. G(Lfoo. e
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¢ fencing posts are placed

(1 mark)

(2 marks)

(3 marks)

discount of 10% on the marked price. If the discount
ade a profit of 25% on the sale of the suit. Calculate

(3 marks)



14. In August, Joyce donated 1/6" of her salary to a children’s
total donation for August

ated 1/8" of her salary to the children’s home while Chui
ildren’s home. The total donation for Septembe

his salary to the same children’s home. Their
September, Joyce don
of his salary to the ch
chui’s monthly salary.

Ln)r;j‘ﬂwh 34_[0«.)’:- L
\/Bi_f‘/E»ﬂ: lLr,%QU'*"U)
675 - b

Cx+ 6y = Wil 600
BE ey S 3 0& 00

31’1+3_ 3ﬂ.+1

O & C/LJ‘:z_j

15. Simplify completely
N
= 27 gx2*- 3"x3
Hx 3" x3*
L&h .35"1 - 3 ;

4}(37’1“’2

M,

16. In the figure

below, triangle A’B’C’ is the image of triangle ABC after a

home while Chui donated 1/5™ of
was Ksh 14,820. In
donated 1/12"

r was Ksh 8,675. Calculate
(4 marks)

Sb’\v’-‘n.j Iy Eﬁ\rﬂ-\\;@ — ml

e o .S}L\,L‘-5!OD0 _ Al
\R

2, (5 g00) + &Y =08 400
er; q?’.’J\OU
Y = &h. 3(,,600-

(3 marks)

- B

i

0.

rotation. M;Mz is a mirror

Line.
M, \
Ial
B, — Avsle of
ol -mgw‘ouﬁ-‘lo")
\ By -ABeY
d'fkm
s
0%
a—"
a) Find the centre and anle of rotation that mapps ABC onto A'BC. (2 marks)
(o)
Conkee M, Arglt. = 90
of“A’B’C’ under a reflection on the line MM, (1 mark)

b) Draw A”B”C” the image
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SECTION 11 (50

MARKS)

Answer ANY FIVE questions from this section in the spaces provided

17. Atambo poured spirit into a test tube which has |
He noted that the spirit is 8cm high.

(1) What is the area of surface in contact with spirit?

. ‘IQ.SCM .

HCW\ASFPN = ng‘lWQﬂlrngh.q' -

= k139 a™

(b) Calculate volume of spirit in the test tube.
o
H’“‘*‘“TW 8 /jx’l-luw{ 15>
_ 7.0b5a°
aj\('wdﬂn = gk i-ao™ G_.; 4

— WC.q95115
F 0695 T %5 951%S -

53.021256.>

—
-

Tokal =

\emispherical bottom of inner radius 1.5cm.
(0 = el

C)j h v edrlcx‘ p a/}-
281w LAl’SXCE

=2, (9‘ . Q(;»Ci g =

(4 marks)

-—

1. 123G+ 61-269
= +G.40%cCw

(4 marks)

_—

M
A

(c) If Atembo obtained the mass of the spirit as 1

f

—

—

[03"1‘53-04\39\}—
= O-| 886glew?

0g. Calculate the density of the spirit. (2 marks).
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18. A bus lefl Nairobi at 7.00 am
7.45am a car lefl Eldoret tow: ards Nairobi at

and traveled towards Eldoret at an
an average speed ol 1

average speed of 80km/hr. At
20km/hr. The distance between

Nairobi and Eldoret is 300 km. Calculate:
(a) The time the bus arrived at Eldoret. = (2 marks)
N e . By . Ao Ml
Gonmb L00 Km C,,,,,_HQOH :i b
—— by - = 3%
= JooamT B v lpsm
~ lo. k5amTh)

() The time of the day the two met.

Loledins  DTHes

_ SoumnX 7, ka-M

<

2, DO Uww
A0 Km -
(Lol akivwe Lo

%0 Kyvulh 120 pn b —
200 ¥mlh

-

-
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-
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—
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(4 marks)

T v u/ﬁ H:.J C}fav-]
|
7S Am

I P E

g. 5FAm: A

_-(—

M,
Hap? fetbw b ol

—

e B l'”" [& M3

(¢) The distance of the bus from Eldoret when the car arrived in Nairobi. (2 marks)
.wa [b\—».ﬁ-l\.n LavJ C o~ = 10,6 Am 6’«“
- VS Aw M H k. ol
” . ;.
- __5__2-9 = & Pq‘_"‘f‘rf : 30 pMaw 1";‘035
i = Jer e
& i :? : LTS . /a.
(d) The distance l'roml Airob \'ﬁlenmhe two met. (2 marks)

300 - (120X %J
| 56 K

-—
L
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19. A square photograph is mounted on o frnme
2% em at the bottom and at the top. Al ench s
the bottom is lefl, 1 the side of the square

(2) Write down a simplified equation in .y for (he are

SfE M,

2L

|

(azx_w;)a»‘/
(5(1 £ 5) (f-e'.‘( 1‘5j =5

Ra*+lox+ 20X +AaS =76 —

(b) What are the dimensions of the lrame?

%=1 m-@)-—-

R
x> —|5Las
8
X = |35 ¢ —5"
4

i,
-—

photograph |

wueh that 1 leaven noundform border of width
Ide, o untlom border which Is hall the Imrdqi' il

a5 om nnd aren of Trame Is 75 e’

wolthe e, (3 matky)

8 x "+ 30X ~-Sp =0

e t1cx-35 =0 A

(4 marks)

|35 Com - — |

(c) What is the pe

— —'(LE O\»m“Slc\,\'-"‘
= GCodt

—
—_—

50

_.--"""——.-—

e X100,
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reentage area of the frame that is not covered by the photograph?

A |

(3 marks)

= 66 7’/;/% A\
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= 5cm,

20. (a) Using a ruler and a pair of compasses only, draw a triangle ABC such that AB
(4 marks)

BC = Scm and <ABC = 60°. Measure AC and <CAB.

| AD = L{-.:J)‘io-\c.m"'—@l

(b) Find a point O in A ABC such that OA = OB = OC. (2 marks).

rpendicular from A to BC to meet BC at D. Measure AD. Hence calculate the area

(c) Constructa pe
(4 marks)

A= I/,Lﬂ g X Lo B M
= |"¥‘ < Cmg'\ﬁ__ﬂ_
1O

.,_..---"""—-
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21. The table below shows the amount in shillings of pocket money given to students in a

particular school.
Pocket Money 210 -219 [220-229 b30-239 [240-249 250259 [260-269 070-279 [280-289 [290-299
(Ksh)
No. of 5 13 23 32 26 20 15 12 4
Students

(a) State the modal class. QLF v QLf:q . E)I (1 mark)

(b) Calculate the mean amount of pocket money given to these students to the nearest shilling.
Cola(s F IX F X (4 marks)
Au-Aalg | & [A4-& |oFk. 5
229-424 |13 |2ak-6 [RG18-5 _
230-23933 [34-5|539%°5 B’] AUK
Akp-244 |32 A4k S |F8 ]
AGo-459(26 [2Se. €
Abo-26G[20 |aby.€
AFe-2F4| 1S [R7Y%-€
Ake-2%q |12 [xF%5
290~ 294 | 4 |254S
150

(c) Use the same axes to dra

~ 2%, 815 _y,

wi— W W o
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e e et e e et ot e e e
P e e T e e -~
REBAN nmmE T N RENEARAAEE EEEEN N — St
bo RREmnks T SREEaEs _EL: A ;‘;‘;:_1:'[,_:__:5:_ l L
SEmEwanunENEER R RS R EENpasEBRARRRENE ERENEEAN R
R funsaREREEamdpanH? '.__._'1:_"_:: R HE | |4 bétd
A e A e e e
e SEanazauma Rtk H “_-;;Eﬁtil__g_ lljr—I EaEL W) --N“‘Hf lo<t
fiEdRaEsedcfe LR aRhas o R R b2 aaaan oce: e
tEazeds e e
’HO 30 1 T '.'|ii H jr‘.‘.i e ] me I plﬂwd
e T A RERBEERAS ENAEANUTEERINEd BNEE
(ol T R L, Fpdeen
3SR RREREE N T e aecatdy
T D L Y LS
RO T N
EEsdtee L NG R /
T H T R B R FTT
;k:::}'_: - A RARAERERG wu T l O
ID .Hj_r L L i' T \ i /
i 4383308 a2 ece eeadoemaEE
HHHA - -
T AR A Rand ERER W H
B i G
T 90 2105 4495 4395 d. 54595 oS AP S P05 2995
RR0.5 205 495 2305 A 54595 PD | quﬁsdﬁr
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22. The speed of a projectile v n/s ata given time r is given by v = 10(10t — %) calculate.
a. The time when the velocity is maximum.

Nz |oog— ot "

(3 marks)

ﬁl.—\-(*—: lgv— Wt =0 —— M/
d Xk
t= She ——

b. The maximum velocity attained (2 marks)

\/ = (00(§)~—10C§)L —
= QEO m'l_‘; el A-l

c. The distance travelled by the body in the first 6 seconds. (3 marks)

S= f@ﬁo{— lot>) dt

C= Soi™ ‘0/34:3—1-;: — M

O AC N

= |0BOM —

4 The acceleration of the projectile at r = 6.3scc.

o= |vo — ao(6.5) M

(2 marks)

i

| ©
LRt
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23. A boy started walking due East from a dormitory 100m South of a bore-hole. He walked to
the school library from which the bearing of the bore-hole is 315°, He then walked on a
bearing of 030° to the water tank. From the water tank he went west to the bore-hole.

a) Using a scale of lcm to represent 20m, construct a diagram to show the positions of the
tank, borehole, dormitory and library. (5 marks)

[ \ [_2)‘ 7Y DIW
\ / /\ L ol |_vto-di b
\ —
s . L gzt WIT.
|
b) Find the distance and bearing of th= bore-hole from the water tank. (3 marks)

Dﬂ\’kwu': %.0/( 0 = M}
- |6Om 1T aAM — 1)

' 0 °
o) 0o w:) - Q7o Tl o == (2) |
¢) Calculate the total distance covered by the boy. (2 marks)

:QS‘TG*T%’ )«20 — M
—_ 2830 mT (:m""AI
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24. A straight line L1 has a gradient - '/, and passes through point P (-1, 3). Another line L2

passes through the points Q (1, -3) and R (4, 5). Find.

a) The equation of L1. (2 marks)

-5
o - — 1 e
j "_\/ -M| B‘_ l/li.-{—"?/z__ A‘]
raEd 4
b) The gradient of Loy (1 mark)
m= G+3
e |
- 7 B
(2 marks)

¢) The equation of La.

[ 2 5 2, ~—
B T =l - Y= —AR*TS A

d) The equation of a line passing through a point S (0, 5) and is perpendicular to La. (3 marks)

- =%
m /8 E)I
-5 = -3 M
< g

¢) The equation ofa line through R parallel to L. (2 marks)
e jnal’ R \/
__,_,_.-—-—-""""'" e
7 S
o = by
L i |
et e el o1
Lokini Foetony
(O
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